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                                                     Abstract 

 

In this research paper we have obtained some interesting mathematical connections 
between various equations inherent the works concerning JT Gravity, open strings on 
the Rindler Horizon, Gauge Theory and integrability and Topological Gravity of 
Witten et al. and some sectors of Ramanujan’s mathematics, principally the Mock 
Theta Functions and ζ(2) and some expressions concerning the mass of some 
particles. 
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Ramanujan original paper with the Hardy-Ramanujan number 1729 and 728 

 

https://randomkey.pro/ramanujan-notebook-2-34/ 
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83802^3 + 1 = 588522607645609;   (588522607645609)1/68 = 
1,6489306826945520407253966174834 ≈ ζ (2) 

1,6489306826945520407253966174834   ×   6 =  

9,8935840961673122443523797049003 

√( 9,8935840961673122443523797049003) = 
3,1454068252242526480341840128661 ≈ ℼ 

 

 

 

https://i.pinimg.com/736x/8a/d3/25/8ad325cae710bdb8eeb9adb649cd9766--family-
circle-mathematics.jpg 

 

From: 

Douglas Stanford and Edward Witten - JT Gravity and the Ensembles of Random 
Matrix Theory - arXiv:1907.03363v2 [hep-th] 22 Jul 2019 

 

 

EQUATION (D.47) 

 

 

1/(16*pi) * (((((-1/(cosh(4Pi)) + 1/(cosh(-8Pi)) - 1/(cosh(10Pi)) + 1/(cosh(-2Pi))))) 
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Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 

Continued fraction: 

 Linear form 

 
Open code 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Note that 26593 is a value very near to the rest mass of charmed Xi 2645.9 
 

 
Open code 

 
 

  

  

  
  

 Integral representation: 

  
 Open code 

 

 

10^3* 22* [1/(16*pi) * (((((-1/(cosh(4Pi)) + 1/(cosh(-8Pi)) - 1/(cosh(10Pi)) + 
1/(cosh(-2Pi)))))] 

 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

1.6316117…  

This result is a golden number  

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
 More information 

Integral representation: 
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Note that 2750 is a value very near to the rest mass of charmed Omega baryon 2765.9 

 

EQUATION (5.56) 

 

((((((-4/(sqrt2)*(((0.5/(2(sinh(36Pi/4)))+0.25)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This result is equal to -1/√2 

Series representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  

  
  

  
  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  
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(((((((-4/(sqrt2)*(((0.5/(2(sinh(36Pi/4)))+0.25)))))^2 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This result is equal to 1/2 

((((((((((sqrt(3)*(((((((-4/(sqrt2)*(((0.5/(2(sinh(36Pi/4)))+0.25))))))))))))))))))^2 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This result is equal to 3/2 

From Wikipedia: 

Those particles with half-integer spins, such as 1/2, 3/2, 5/2, are known as fermions 

((((((-4/(sqrt2)*(((0.5/(2(sinh(24Pi/4)))+0.25)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 



10 
 

 
This result is equal to -1/√2  

From Wikipedia: 

Each of the (Hermitian) Pauli matrices has two eigenvalues, +1 and −1. The 
corresponding normalized eigenvectors are: 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

  

  

  

  

  
 More information 

Enlarge Data Customize A Plaintext Interactive  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
 More information 

 

1/6 (((((((ln((((((-4/(sqrt2)*(((0.5/(2(sinh(24Pi/4)))+0.25)))))))))))))^2 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 
 

1.66495 
This result is a golden number 
 
Series representation: 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  
 More information 

 

((((((ln((((((-4/(sqrt2)*(((0.5/(2(sinh(24Pi/4)))+0.25))))))))))))) 

Input: 

 
Open code 
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  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
 

Series representation: 

 
Open code 

 
 

 More information 

Enlarge Data Customize A Plaintext Interactive  
Integral representations: 

 
Open code 

 
 

 
Open code 

 
 

 
Open code 

 
 

  

  
 More information 
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EQUATION (3.93) 

 

((((2*sinh(48Pi/2) sinh(72Pi/2))) / (((-e^(48Pi/2))-1) * (((-e^(72Pi/2))-1))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 
This result is equal to ½ (spin) 
 
Open code 
Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  
 More information 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

((((2*sinh(24Pi/2) sinh(36Pi/2))) / (((-e^(24Pi/2))-1) * (((-e^(36Pi/2))-1))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 
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 More digits 

 
Open code 

This result is equal to ½ (spin) 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 
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  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

EQUATION (E.15) 

 

((((((cos(-Pi/2+ Pi*e^1.2337 * integrate ((1/(Pi*(i))))))/ i 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

 

Values: 

 More 
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Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
Open code 

 

12*((((((cos(-Pi/2+ Pi*e^1.2337 * integrate ((1/(Pi*(i))))))/ i 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

 

Values: 

 More 

 
 
Where -1.64734 is very near to the value of ζ (2) = 𝜋ଶ/6 = 1.6449... 
 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
Open code 

 

((((((((6*12*((((((cos(-Pi/2+ Pi*e^1.2337 * integrate ((1/(Pi*(i))))))/ i)))))))))^0.5 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

 

Values: 

 More 

 
 
Where 3.14389 is a good approximation to 𝜋 (in the imaginary form) 
 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
Open code 

 
 
Alternate form assuming i>0: 

 
 

EQUATION (D.42) 
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(((([((((e^(9Pi) - e^(-9Pi)))*(((e^(9Pi) + e^(-9Pi))))))))* 1/ (((((((cosh (18Pi) + cosh 
(18Pi))))]))))  *  [(((1/(-16Pi))))] 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

 More information 

Integral representation: 

 
 

(((([((((-e^(-3Pi) - e^(3Pi)))*(((e^(9Pi) + e^(-9Pi))))))))* 1/ (((((((cosh (18Pi) + cosh 
(-6Pi))))]))))  *  [(((1/(-16Pi))))] 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

Continued fraction: 

 Linear form 

 
Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

sqrt(-0.01989436788648691697111 + 2.59120647414691712891593) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is a golden number very near to the electric charge of positron 
 

EQUATION (D.44) 

 

1/(-8pi) * (((((1/(cosh(12Pi)) - 1/(cosh(18Pi))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
 More information 

Integral representation: 

 
Open code 

 

-0.48 * 1/(-8pi) * (((((1/(cosh(12Pi)) - 1/(cosh(18Pi))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is a sub-multiple of a golden number 

Series representations: 

 More 

 
Open code 



25 
 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

-0.0198943676 * 1/(-8pi) * (((((1/(cosh(12Pi)) - 1/(cosh(18Pi))) 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
 More information 

 

Integral representations: 
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Open code 

 
Note that the value 24868, in the integral, is a multiple very near to the rest mass of 
charmed Xi baryon  2470.88 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

Pi*colog((((((((( -0.0198943676 * 1/(-8pi) * (((((1/(cosh(12Pi)) - 
1/(cosh(18Pi)))))))))))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the mass of Pion meson π±: 139.57018(35) MeV/c2 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
Note that 0.0198944 is a sub-multiple very near to the rest mass of strange D meson 
1968.49 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

 
 

10^2*ln[((((((((( -0.0198943676))) /  ((((((((1/(-8pi) * (((((1/(cosh(12Pi)) - 
1/(cosh(18Pi))))))))] 

Input interpretation: 

 
Open code 

 
 

  

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the rest mass of double charmed Xi 3621.40±0.78 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
 More information 

 

Integral representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

((((((((( -0.0198943676))) /  ((((((((1/(-8pi) * (((((1/(cosh(12Pi)) - 1/(cosh(18Pi)))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
 More information 

 

1/(10^15 * 1.0814135^2 * Pi) ((((((((((((( -0.0198943676))) /  ((((((((1/(-8pi) * 
(((((1/(cosh(12Pi)) - 1/(cosh(18Pi))))))))) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6044375… 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
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  

 More information 

 

Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 More information 

 

sqrt((((3631.2817474/138.69331942*1/10)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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EQUATION (D.43) 

 

1/(16*pi) * (((((1/(cosh(6Pi)) + 1/(cosh(-16Pi)) - 1/(cosh(72Pi)) - 1/(cosh(0))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

Note that the value 1025 in the above series, is very near to the rest mass of Phi 
meson 1019.445 
 

 
Open code 

 
 

  

  

  
 More information 

 

Integral representation: 

 
Open code 

 

(-21*4) * 1/(16*pi) * (((((1/(cosh(6Pi)) + 1/(cosh(-16Pi)) - 1/(cosh(72Pi)) - 
1/(cosh(0))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 
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This result 1.6711268... is very near to the Proton mass 1.672*10-27 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
Note that the value 1025 is very near to the rest mass of Phi meson 1019.445 
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Open code 

 
 

  

  

  
 More information 

Integral representation: 

 
 

EQUATION (D.20) 

 

ln ((cosh (18Pi) + cosh (18Pi))/((cosh (18Pi) + cosh (-6Pi)) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

12/5  ln ((cosh (18Pi) + cosh (18Pi))/((cosh (18Pi) + cosh (-6Pi)) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6635532… 

This result is a golden number 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

(34)^(1/4)  ln  ((cosh (18Pi) + cosh (18Pi))/((cosh (18Pi) + cosh (-6Pi)) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6737677… 

This result is very near to the Neutron mass 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

1/4  ln ((cosh (36Pi) + cosh (30Pi))/((cosh (36Pi) + cosh (-6Pi)) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

1.62810302… 

This result is a sub-multiple of a golden number 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 



46 
 

Open code 

 
 

 
 

 

EQUATION (4.57) 

 

From the right equation, we obtain: 

1/(2*Pi) * ((sqrt((4-5)/5)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
  

 

sqrt((((((ln(1/((1/(2*Pi) * ((sqrt(-(4-5)/5))))))))))) 

Input: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6256063... 

This result is a golden number 

Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  
  

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  
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EQUATION (5.4-5.5) 

 

(((exp(Pi^2/2)))/(((sqrt(4Pi))*2^(1.5) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
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  
  

 

(((exp(Pi^2/2)))*(((sqrt(2/(2Pi))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
(((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) 
 
Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 



53 
 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
  

 
 
(((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) 
 
Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
Continued fraction: 

 Linear form 



54 
 

 
Open code 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

  

  

  

  

  

 

(8.258360107447864386085117512490880748484408075932061 × 10^-696) / 
(((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is equal to 1/√2 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
  
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0.7071067811865475244008443621048490392848359376884739 

Continued fraction: 

 Linear form 

 
 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 

(((exp(Pi^2/2)))*(((sqrt(2/(2Pi)))*1/((((13.8677958423170643797079370472118651
68790929396136096)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  



57 
 

Result: 

 More digits 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

  

  

  

  

  
 More information 
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(5.6568542494923801952067548968387923142786875015077926 / 
0.7071067811865475244008443621048490392848359376884740) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

(0.7071067811865475244008443621048490392848359376884740/ 
5.6568542494923801952067548968387923142786875015077926) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

Rational form: 

 
Open code 

 

(0.7071067811865475244008443621048490392848359376884740/5.656854249492
3801952067548968387923142786875015077926)^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

Rational form: 
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Open code 

 

EQUATION (5.9) 

 

(((((((72Pi * integrate [36Pi * (((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) * (((e^(-
(36Pi)^2/8)))/(((sqrt(4Pi))))]b)))))) 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot: 

 
 

ln (((((((72Pi * integrate [36Pi * (((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) * (((e^(-
(36Pi)^2/8)))/(((sqrt(4Pi))))]b)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Plots: 
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Open code 

 
 

 
Open code 

 

Series expansion of the integral at b = 0: 

 

Open code 

 
 

 Big‐O notation 

Enlarge Data Customize A Plaintext Interactive  

Series expansion of the integral at b = ∞: 

 

Open code 

 
 

 Big‐O notation 
Indefinite integral: 

 

Open code 

 

Now, from: 
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we obtain: 
 
log(324 * (36Pi)^2 e^(-324 π^2) π) 
 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

3181.3698549… 
 

 

Continued fraction: 

 Linear form 

 
Open code 

 

Series representations: 

 More 

 

Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

Integral representation: 

 

 

(3181.3698549)^1/16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65543977265 

We note that, the result 1,6554397... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 



63 
 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                        ⇒  = 1.6554397... 

 

 

(3181.3698549)^1/17 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.60707493334 

This result is a golden number very near to the electric charge of positron 

1/4(((2*(3181.3698549)^1/19 +(3181.3698549)^1/16 + (3181.3698549)^1/13))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.64316862639… 

2*(((((6/4(((2*(3181.3698549)^1/19 +(3181.3698549)^1/16 + 
(3181.3698549)^1/13))))))))^0.5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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6.279812659094… ≈ 2ℼ 

From the result  

log(324 * (36Pi)^2 e^(-324 π^2) π) 
 

we obtain: 

 

8*(((((sqrt(5)+1)))/2)))))^5 + log(324 * (36Pi)^2 e^(-324 π^2) π) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 
 
Open code 
Continued fraction: 

 Linear form 

 
Open code 

 

Series representations: 

 More 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

Integral representation: 

 

 

Note that 3092.648 is very near to the rest mass of J/Psi meson 3096.916 

 

((((((((8*(((((sqrt(5)+1)))/2)))))^5 + log(324 * (36Pi)^2 e^(-324 π^2) π)))))))))^1/27 

Input: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
1.60619720969405944789… 
 
This result is a golden number very near to the electric charge of positron 
 
Open code 
Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  
  

 Integral representation: 

  
 

Note that the value 1024 is very near to the rest mass of the Phi meson 1019.445 

 

((((((((8*(((((sqrt(5)+1)))/2)))))^5 + log(324 * (36Pi)^2 e^(-324 π^2) π)))))))))^1/25 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 
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Decimal approximation: 

 More digits 

 
Open code 

1.66825631107593500764 

This result is a golden number very near to the Proton mass 

((((((((8*(((((sqrt(5)+1)))/2)))))^5 + log(324 * (36Pi)^2 e^(-324 π^2) π)))))))))^1/24 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

1/2 * ((((((((((((((((((((8*(((((sqrt(5)+1)))/2)))))^5 + log(324 * (36Pi)^2 e^(-324 π^2) 
π)))))))))^1/27))))))  + 1.704212417859793454975875689555714)))))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

We note that, the result 1,6552048... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 



69 
 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                     ⇒   

                     = 1.6552048… 

 

((((1.65520481377692645143 + 1.60619720969405944789)/2 + 
1.66825631107593500764)))/2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1.64947866140571397865 ≈ 
గమ

଺
 that is equal to ζ (2) 

Indeed: 

sqrt[6*((((1.65520481377692645143 + 1.60619720969405944789)/2 + 
1.66825631107593500764)))/2] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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3.14592942839382267537 

that is a good approximation to 𝜋 

 

EQUATION (5.20-5.22) 

 

1/2 * coth (36Pi/4) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
This result is equal to ½ (spin) 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

 More information 

Integral representation: 

 

Open code 

 

EQUATION (5.10) 
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(((((((integrate [(((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) * 
0.500000000000000000000000276201244352235315487572795551755]b)))))) 

Indefinite integral: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
 

We note that for the precedent equation, we obtain: 

(((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-696 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
 More information 

Enlarge Data Customize A Plaintext Interactive  
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(1.167908486691370029004855757175636894911365394983707 * 10^-695 / 
2.91977121672842507251214100582797880574071521648765962271*10^-696) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Note that: 

(3.999999999999999999999997790390045182117476099418852760184 / 
2.82842712474619009760337588598921332811372407652085091447) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1.414213562373095048801688724209698078569671875376946864090 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 

And: 

(2.82842712474619009760337588598921332811372407652085091447 / 
3.999999999999999999999997790390045182117476099418852760184) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

0.707106781186547524400844362104849039284835937688474641131 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 

This result, as showed above, is equal to 1/√2  

 

((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^(1/(1.4649+0.6942) 

Where 1.4649 and 0.6942 are Hausdorff dimensions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^1/(((248-3*13)/100))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.644561943539... ≈ ζ (2) 

Or: 

((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^1/(((233-21-3)/(55+2*21+3))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.644561943539... ≈ ζ (2) 

((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^1/(2.06) 

Where 2.06 is a Hausdorff dimension 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

We note that, the result 1,656519... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷା √ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                     ⇒  

                     = 1.656519... 

Note that: 

sqrt((((((((((((6*((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^1/(((248-3*13)/100)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

And 
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2 * sqrt((((((((((((6*((((((((((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) / 
2.91977121672842507251214100582797880574071521648765962271×10^-
696))))))^1/(((248-3*13)/100)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.28247456381159... ≈ 2ℼ 

Series representations: 

 More 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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  

  

  
  

  
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For b = 36𝜋, from the eq. (5.10), we obtain: 

(((2.91977121672842507251214100582797880574071521648765962271×10^-696 
(36Pi)^2)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

27*9+27+ln(((2.9197712167284250725121410058279788057407152164876596227
1×10^-696 (36Pi)^2)) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the rest mass of Xi baryion 1321.71±0.07 with minus sign 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representation: 
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27*3-
ln(((2.91977121672842507251214100582797880574071521648765962271×10^-696 
(36Pi)^2)) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the rest mass of Omega baryion 1672.45±0.29 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
 

1/10 
((((27*9+ln(((2.9197712167284250725121410058279788057407152164876596227
1×10^-696 (36Pi)^2)))))) 

Input interpretation: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is practically equal to the rest mass of Pion 134.9766±0.0006 with minus 
sign 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
Open code 

 

((((729+27*3+ln(((2.919771216728425072512141005827978805740715216487659
62271×10^-696 (36Pi)^2)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result is very near to the rest mass of Omega meson 782.65±0.12 with minus 
sign 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
Open code 

 

((((24^2-
3+ln(((2.91977121672842507251214100582797880574071521648765962271×10^-
696 (36Pi)^2)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result is very near to the rest mass of Phi meson 1019.445±0.020 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
 

In conclusion of eq. (5.10), we obtain: 

((((729-27*6-2*351+ln(((2.919771216728425×10^-696 (36Pi)^2)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
mass of candidate glueball f0(1710) meson and very near to the Hardy-Ramanujan 
number with minus sign 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representation: 

 
 

-((((-134.9766+ln(((2.919771216728425×10^-696 (36Pi)^2)))))) 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

mass of candidate glueball f0(1710) meson and very near to the Hardy-Ramanujan 
number 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representation: 
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-((((-137.03599917435+ln(((2.919771216728425×10^-696 (36Pi)^2)))))) 

Where 137,035999... is the reciprocal of the Fine-Structure Constant 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is practically equal to the Hardy-Ramanujan number 1729 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
 

EQUATION (5.11) 

 

 

2(((((((integrate [(((e^(-(36Pi)^2/8)))/(((sqrt(4Pi)))) * 
0.500000000000000000000000276201244352235315487572795551755]b)))))) 

 
Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 

 
Open code 

 
 
Now, we note that for the eq. (5.4) 

 
 
(((e^(-(36Pi)^2/8)))/(((2sqrt(2Pi)))) 
 
Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
 
 

We have that: 
 
(8.258360107447864386085117512490880748484408075932061 × 10^-696 / 
5.83954243345685014502428201165595761148143043297531924543×10^-696) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
Open code 

 
1.414213562373095048801687942994606664056862038260425368281 
 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 
 

And: 
 
(5.83954243345685014502428201165595761148143043297531924543×10^-696 / 
8.258360107447864386085117512490880748484408075932061 × 10^-696) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

0.707106781186547524400844752712394746541240856246951161616 
 
This result is equal to 1/√2 
 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 
Thence, we observe that: 
 
((1/(sqrt(2))) * (sqrt(2)) 
 
Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Step-by-step solution  

 
 
 

And 
 
(1.414213562373095048801687942994606664056862038260425368281/0.7071067
81186547524400844752712394746541240856246951161616) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1.999999999999999999999997790390045182117476099419466225417 
 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

And 

(0.707106781186547524400844752712394746541240856246951161616/1.4142135
62373095048801687942994606664056862038260425368281) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.500000000000000000000000552402488704470630975145743740664 
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Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

Practically, we obtain three spin: 1, 2 and  1/2 where 1 is the spin of the photon 
(gauge boson), 2 is the spin of the graviton (also gauge boson) and 1/2 is the spin of 
the electron (fermion, elementary particle)   

 

(((((exp((((5.83954243345685014502428201165595761148143043297531924543×1
0^-696 / 8.258360107447864386085117512490880748484408075932061 × 10^-
696))))))^4 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

From: 

 

If we calculate ln (21493760), we obtain: 16,883273218414131766382885477742, a 
black hole entropy  very near to above result obtained. 

 

(((((exp((((5.83954243345685014502428201165595761148143043297531924543×1
0^-696 / 8.258360107447864386085117512490880748484408075932061 × 10^-
696))))))^1/9 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.0817362835066784234351156252032901925977148444402788 

This result is very near to the value of the Ramanujan mock theta function, equal to 
1,08185  

Furthermore, we have also: 

(((((((((((exp((((5.839542433456850145024282011655957611481430432975319245
43×10^-696 / 8.258360107447864386085117512490880748484408075932061 × 
10^-696))))))^1/9))))))))^6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.602242997203560150995178189460815268060373581742330 

This result is a golden number very near to the electric charge of positron 

 

(((((((((((exp((((5.839542433456850145024282011655957611481430432975319245
43×10^-696 / 8.258360107447864386085117512490880748484408075932061 × 
10^-696))))))^1/9))))))))^((((Pi+ln(Pi)+ln(2Pi))) 

Input interpretation: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.617954283679911475503841388166597947665032178274248 ≈ 𝜙 =  
ଵା√ହ

ଶ
  

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

Continued fraction: 

 Linear form 
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We have, with the Ramanujan’s mock theta function 0.0814135: 

0.0814135/((((((5.839542433456850145024282011655957611481430432975319245
43×10^-696 / 8.258360107447864386085117512490880748484408075932061 × 
10^-696))))))^27 - 5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
 
Result very near to the rest mass of the proton 938.272 

And: 

0.0814135^2/((((((5.8395424334568501450242820116559576114814304329753192
4543×10^-696 / 8.258360107447864386085117512490880748484408075932061 × 
10^-696))))))^30 - 26*3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
 
Result that is practically equal to the rest mass of the Pion 139.570 

[0.0814135^2/((((((5.839542433456850145024282011655957611481430432975319
24543×10^-696 / 8.258360107447864386085117512490880748484408075932061 × 
10^-696))))))^36]^1/15 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.644355... ≈ ζ (2) 

2*sqrt((((((((((6*[0.0814135^2/((((((5.83954243345685014502428201165595761148
143043297531924543×10^-696 / 
8.258360107447864386085117512490880748484408075932061 × 10^-
696))))))^36]^1/15))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.282079... ≈ 2ℼ 

 

From: 

Edward Witten - Open Strings On The Rindler Horizon - arXiv:1810.11912v4 
[hep-th] 26 Nov 2018 

 

EQUATION (3.13) 
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1/ ((((1-535.49^2*exp(-20Pi*i/5)))(((1-535.49^2*exp(20Pi*i/5)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

(535.49)^(1/24) * (1-535.49^2) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

 

EQUATION (3.14) 

 

1/ (((((535.49^(1/12)*(((1-535.49^2*exp(-20Pi*i/5)))(((1-
535.49^2*exp(20Pi*i/5)))))) 

Input interpretation: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/ ((((535.49)^(1/24) * (1-535.49^2))))^6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(3.73943*10^(-34) *  1/ (((((535.49^(1/12)*(((1-535.49^2*exp(-20Pi*i/5)))(((1-
535.49^2*exp(20Pi*i/5)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

((((((((((10^45 * (3.73943*10^(-34) *  1/ (((((535.49^(1/12)*(((1-535.49^2*exp(-
20Pi*i/5)))(((1-535.49^2*exp(20Pi*i/5)))))))))))))))^0.5 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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1.641358575... ≈ ζ (2) 

2*sqrt[6*((((((((((10^45 * (3.73943*10^(-34) *  1/ (((((535.49^(1/12)*(((1-
535.49^2*exp(-20Pi*i/5)))(((1-535.49^2*exp(20Pi*i/5)))))))))))))))^0.5] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.27635... ≈ 2ℼ 

EQUATION (3.22) 

 

(((2Pi^2)/(-8Pi^2*1/2)^0.5))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 
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Polar coordinates: 

 Exact form 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1/ (((4sin^2(10Pi/3))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 



108 
 

 

1/3*(-i*Pi)* (3.73943*10^(-34) *  1/ (((((535.49^(1/12)*(((1-535.49^2*exp(-
20Pi*i/3))(((1-535.49^2*exp(20Pi*i/3)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

 

10*ln((((((1/3*(-i*Pi)* (3.73943*10^(-34) *  1/ (((((535.49^(1/12)*(((1-
535.49^2*exp(-20Pi*i/3))(((1-535.49^2*exp(20Pi*i/3)))))))))))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

 

This result is very near to the rest mass of Phi meson 1019.445±0.020 

(1025.91)^(1/14) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.640889…  ≈ ζ (2) 

2*sqrt(((6*(1025.91)^(1/14)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.275455… ≈ 2ℼ 

EQUATION (4.4) 

 

2*(-694.44^8)(2*i/-1) / (-694.44^16)*(i/-1) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

2*(-694.44^8)(4*i/-2) / (-694.44^16)*(2i/-2) 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/31*ln((((2*(-694.44^8)(2*i/-1) / (-694.44^16)*(i/-1)))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

1.64695 ≈ ζ (2) 

Series representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

Integral representation: 

 
 

2*sqrt((((((6/31*ln((((2*(-694.44^8)(2*i/-1) / (-694.44^16)*(i/-1)))))))))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

6.28703 ≈ 2ℼ 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representation: 

 
 

 

EQUATION (4.10) 

 

(((16(1+exp(-8Pi/-2))^8)))/(((1-exp(((-8Pi/-2))^8)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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1/24*ln((((((16(1+exp(-8Pi/-2))^8)))/(((1-exp(((-8Pi/-2))^8)))))))^2 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

 

This result is a multiple of a golden number 

Continued fraction: 

 Linear form 

 
 

Alternative representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  
 More information 

Integral representation: 

 
 

EQUATION (4.16) 

 

((-694.44^8*(-i/2))) / ((-694.44^16*(-i))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

-1/32*ln((((-694.44^8*(-i/2))) / ((-694.44^16*(-i))))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

We note that, the result 1,657437... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 
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Indeed: 

                       ඨቆටଵଵଷା √ହ଴ହ

଼
+ ටଵ଴ହ √ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                               ⇒  

                             = 1.657437... 

 

Series representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  
 More information 

Integral representation: 
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EQUATION (4.19) 

 

exp(-Pi)+8+(exp(Pi)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1/19*((((exp(-Pi)+8+(exp(Pi)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 

1.64125823952…  ≈ ζ (2) 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

2*sqrt((((((6/19*((((exp(-Pi)+8+(exp(Pi)))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

6.276161067… ≈ 2ℼ 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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((((exp(-Pi)-8+(exp(Pi)))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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27*4*1/10^3((((exp(-Pi)-8+(exp(Pi)))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
1.6398619… is a golden number 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

(31.1839065-15.1839065) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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EQUATION (4.25) 

 

((((tanh(Pi/2)-1/3*tanh(Pi/6)))) / (((sinh(Pi/3)))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

 More information 

Integral representations: 
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Open code 

 
 

 

Open code 

 

1/   ((((tanh(Pi/2)-1/3*tanh(Pi/6)))) / (((sinh(Pi/3)))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.650430286553579348779898026887393089244934442301566466796 
 
This result is a golden number 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
And 
 
Input interpretation: 



127 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2936735… ≈ 2ℼ 
 
Property: 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  

 

 

((((tanh(Pi/4)-1/3*tanh(Pi/12)))) / (((sinh(Pi/6)))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 
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 More information 

Integral representations: 

 

Open code 

 
 

 

 

((((tanh(Pi*i/4)-1/3*tanh(Pi*i/12)))) / (((sinh(Pi*i/6)))) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Alternate forms: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Continued fraction: 
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 Linear form 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
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  
 More information 

Integral representations: 

 

Open code 

 
 

 

 

((((tanh(Pi*i/2)-1/3*tanh(Pi*i/6)))) / (((sinh(Pi*i/3)))) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

 

1/ ((((tanh(Pi/2)-1/3*tanh(Pi/6)))) / (((sinh(Pi/3)))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 
1.65043028 is a golden number 
 
Property: 

 
 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

89/100 ((((tanh(Pi*i/4)-1/3*tanh(Pi*i/12)))) / (((sinh(Pi*i/6)))) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 

1.62101681249…  
 
This result is a golden number 
 
Open code 
 
Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
 

(0.6059025989447+1.0412789186779) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1.6471815176226 ≈ ζ (2) 

 

2*sqrt((((6*(0.6059025989447+1.0412789186779))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2874761568488… ≈ 2ℼ 

 

EQUATION (B.5) 

 

60/(Pi)^4 * 1/ ((-3^2-2^2))^4 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 
Continued fraction: 

 Linear form 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

140/(Pi)^6 *1/ ((-3^2-2^2))^6 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 



139 
 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 
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Note that 775.4 is a rest mass of a charged Rho meson, very near to the value 
77228944 that is a multiple 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Note that 137858491849 is a multiple of a rest mass of Pion 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) / (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

Note that 0.0013989118 * 105 = 139.89118 is very near to the pion rest mass 139.570 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

1/4(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

1.626623509…  
 
This result is a sub-multiple of a golden number 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Note that 137858491849 is a multiple of the rest mass of pion 

Integral representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

0.256(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result 1.66566 is a sub-multiple of a golden number  

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1.5233 is a value sub-multiple very near to the rest mass of baryon Xi 1531.80 

0.254(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This result is a sub-multiple of a golden number 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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1.54767  is a value sub-multiple very near to the rest mass of baryon Xi  that is 1535 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

0.2487(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-2^2))^4))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is a sub-multiple of the golden ratio 1,61803398... 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Or: 

sin(2Pi/25)(((((140/(Pi)^6 *1/ ((-3^2-2^2))^6))))) * (((((60/(Pi)^4 * 1/ ((-3^2-
2^2))^4))))) 

 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 
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Decimal approximation: 

 More digits 

 
Open code 

 
This result is a sub-multiple of the golden ratio 1,61803398... 
 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Multiple-argument formulas: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

 
 

note that 137858491849 is a multiple very near to the pion rest mass 139.570 
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From: 

Kevin Costello, Edward Witten and Masahito Yamazaki - Gauge Theory And 
Integrability, I - arXiv:1709.09993v2 [hep-th] 4 Feb 2018 

 

From (7.51), we have that: 

((((Pi*13)/12-(Pi/6)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Series representations: 

 More 

 

Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
Integral representations: 

 More 

 

Open code 

 

 

Open code 

 

 

Open code 

 

Now: 

From Wikipedia 

In atomic physics, Rydberg unit of energy, symbol Ry, corresponds to the energy of 
the photon whose wavenumber is the Rydberg constant, i.e. the ionization energy of 
the hydrogen atom. 
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Thence, we have that: 
 
1/((((Pi*13)/12-(Pi/6))))^2 * 13.605693009 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6405823841... ≈ ζ (2) 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

 
Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
And: 
 
2*sqrt((((((6*1/((((Pi*13)/12-(Pi/6))))^2 * 13.605693009)))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2748687012... ≈ 2ℼ 
 
We have also the following expression: 
 
((((((1/((((Pi*13)/12-(Pi/6))))^2 * (137.035/10)))))) 
 
Where 137.035 is the value of the reciprocal of the fine-structure constant  
 
Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65238... is a golden number 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 
 

And: 

sqrt[6*((((((1/((((Pi*13)/12-(Pi/6))))^2 * (137.035/10))))))] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.14869116… ≈ ℼ 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

  
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Thence, we have: 13, 24, 27, 56, 133 and 1539.  

Thence: 

[(56*56)-(27*27)-5*133-13))))))] 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 



159 
 

 Step-by-step solution  

 
We note that [(27*27)] = 729 

1+1/sqrt(1729/728) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.648885684... ≈ ζ (2) 

sqrt((((6((1+1/sqrt(1729/728))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
3.1453639... ≈ ℼ 
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((((2925+78)/21)))*5+13 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Step-by-step solution  

 
 

((((27*27*351)))/144-48 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 Step-by-step solution  

 
Decimal form: 

 
Open code 

 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

sqrt((((((56*56*56*56))))))/3-(13*2) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

1019.3333... 

This result is very near to the rest mass of Phi meson 1019.445 

((((((((sqrt((((((56*56*56*56))))))/3-(13*2)))))))))^1/14 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 
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1.640135506... ≈ ζ (2) 

2sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-(13*2)))))))))^1/14))))))))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
 
6,2740140379... ≈ 2ℼ 

 

-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14))))))))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
3097 
 
This result is practically equal to the rest mass of J/Psi meson 3096.916 
Open code 
 
Alternate forms: 

 Step-by-step solution  

 
Open code 
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Open code 

 
 
Minimal polynomial: 

 
 

[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))]^1/16 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.65266141194... is a golden number 

sqrt(((((((((((6*[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))]^1/16))))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

2sqrt(((((((((((6*[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))]^1/16))))))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

6.297926157 ≈ 2ℼ 
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[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))] / 1.08185^36-34-13 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
135.360... 

This result is very near to the rest mass of Pion 134.9766 

[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))] / 1.08185^15 -89-8+377 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1231.56... 

This result is very near to the rest mass of Delta baryon 1232 

 

[-27-13+10^3*sqrt(((((((((((6*((((((((sqrt((((((56*56*56*56))))))/3-
(13*2)))))))))^1/14)))))))))))))))] / 1.08185^15 -13 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
938.561… 
 
This result is very near to the proton mass 938.272 
 
 

Now, we have that: 

 

 

From the (11.6), we have: 

1/2i (((e^(27i)-e^(-27i))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Alternate forms: 
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 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

sin (27) 

 Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Reference triangle for angle 27 radians: 
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Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Note that: 

sqrt(3) * sin (27) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 
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We note that, the result 1,6564916... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

 

                                             ⇒  
                                              
                                              = 1.6564916... 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

 

 

sin (36) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Reference triangle for angle 36 radians: 
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Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

-25/((((0.0864055^2(-0.991778853443115-0.956375928404503)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 



172 
 

This result is very near to the mass of candidate glueball f0(1710) meson. 

 

2*(((((((-25/((((0.0864055^2(-0.991778853443115-0.956375928404503))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(((((((-25/((((0.0864055^2(-0.991778853443115-0.956375928404503))))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.643169... ≈ ζ (2) 

2sqrt[6*(((((((-25/((((0.0864055^2(-0.991778853443115-
0.956375928404503))))))))))^1/15] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.279814... ≈ 2ℼ 
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From the eq. (3.5), we obtain: 

1/10^34 * integrate (((1+(2/3) * exp (2/(6.626/(2Pi)))))x 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 
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We have also the following result: 

exp((((2.7209×10^-34 (i^2)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.99999999999999999999999999999999972791 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

 

Where 1 is the spin of photon (gauge boson). 

Then: 

sqrt((((2.7209×10^-34 (i^2)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 
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Open code 

1.64952 ≈ ζ (2) 
 
1/10^17 * 2sqrt[6*sqrt((((2.7209 (i^2))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

6.29193 ≈ 2ℼ 

(2Pi * 6.29193) * 1/10^17 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

3.95334...*10-16 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 
The result 3.95334...* 10-16 can be written also as follows: 

39,5334×10-17 = 3,95334 * 10-16 

Note that (2Pi * 6.29193) * 1/1017 

Input interpretation: 

 
Open code 
 

Is equal about to (2𝜋 ∙ 2𝜋) ∙ 10ିଵ଻ that is the torus area with radii equals to 1 

 
 

We have also, if A is equal to: 

e^(2Pi/5) 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

3.513585624285733637704671924560340344927272606957572726779 
 
Property: 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

 10^-34 * integrate 
((((3.513585624285733637704671924560340344927272606957572726779) * exp 
(2/(6.626/(2Pi)))))x 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 

 
 

sqrt(1.1705) *1/10^33 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is a sub-multiple very near to a result of a Ramanujan mock theta function 
that is 1,08185 

 

(((sqrt(1.1705)))^(2Pi) *1/10^33 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
1.63982 ≈ ζ (2) (sub-multiple) 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 

 

Open code 

 
 

  

  

  

  

  
 More information 

 

 

1/10^33 * 2sqrt((((((6*(((sqrt(1.1705)))^(2Pi)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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6,27340… ≈ 2ℼ (sub-multiple) 
 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  

  

  
 More information 

 

From: 

Kevin Costello, Edward Witten and Masahito Yamazaki - Gauge Theory And 
Integrability, II - arXiv:1802.01579v1 [hep-th] 5 Feb 2018 
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From (5.4), we obtain: 

(((1+8/3) * 6.582*10^-16)) * (((1+16/3) * 6.582*10^-16)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

This result is a sub-multiple very near to a value of a Ramanujan mock theta function 
that is -1,00615716... 

 

10^3 * 1/(((((((1+8/3) * 6.582*10^-16)) / (((1+16/3) * 6.582*10^-16))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1727,27... 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 
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Repeating decimal: 

 
Enlarge Data Customize A Plaintext Interactive  
 

[10^3 * 1/(((((((1+8/3) * 6.582*10^-16)) / (((1+16/3) * 6.582*10^-16)))))))]^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1,64370569... ≈ ζ (2) 

2sqrt(((((6*[10^3 * 1/(((((((1+8/3) * 6.582*10^-16)) / (((1+16/3) * 6.582*10^-
16)))))))]^1/15))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6,280839... ≈ 2ℼ 

Now, we have that: 

 

(1+2/3((6.582*10^-16*9))) (1+4/3((6.582*10^-16*9))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

This result is equal to the photon spin (gauge boson) 

 

1/6(((((ln(1+2/3((6.582*10^-16*9)))  ((((1+4/3((6.582*10^-16*9)))))))^(5/2) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.63351... is a sub-multiple of a golden number 

 

sqrt(sqrt(sqrt[6*((((((1/6(((((ln(1+2/3((6.582*10^-16*9)))  ((((1+4/3((6.582*10^-
16*9)))))))^(5/2))))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.00003154344 

3.154344*10-5 

 

 

Now, we have that: 
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((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-16)))) ((((1+3/2(18*6.582*10^-
16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

((((1+(18*6.582*10^-16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 
((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-16)))) ((((1+3/2(18*6.582*10^-
16)))) + 1.0000000000000118476 
 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

The results 1 and 2 are the spin of the photon and graviton (gauge bosons) 

 

((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-16)))) ((((1+3/2(18*6.582*10^-
16)))) - 1.0000000000000118476 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

21*2+27*2*ln((((((((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-16)))) 
((((1+3/2(18*6.582*10^-16)))) - 1.0000000000000118476)))))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 
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[21*2+27*2*ln((((((((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-16)))) 
((((1+3/2(18*6.582*10^-16)))) - 1.0000000000000118476))))))))))]^1/15 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

1.64365 ≈ ζ (2) 

2sqrt(((((6*[21*2+27*2*ln((((((((((1+1/2(18*6.582*10^-16)))) ((((1+(18*6.582*10^-
16)))) ((((1+3/2(18*6.582*10^-16)))) - 1.0000000000000118476))))))))))]^1/15))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

6.28073 ≈ 2ℼ 

Now, we have: 
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-(6.582*10^-16)^9 * derivative ((1^-1)^8))c 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

-2.3185736805101263372449669853804032 × 10-137 

 

[-(6.582*10^-16)^9 * derivative ((1^-1)^8))c]^1/36 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

0.000160173 

1.60173*10-4 is a sub-multiple of a golden number and very near to the absolute 
value of the electric charge of positron 
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Now, we have that 

 

We have that: 

((((exp(((2/3(9*6.582*10^-16)))) ((((exp(((4/3(9*6.582*10^-16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

And: 

2((((exp(((2/3(9*6.582*10^-16)))) ((((exp(((4/3(9*6.582*10^-16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
((((e^(((1/2(18*6.582*10^-16)))) ((((e^(((2/2(18*6.582*10^-16))))  
((((e^(((3/2(18*6.582*10^-16)))) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

And: 

2((((e^(((1/2(18*6.582*10^-16)))) ((((e^(((2/2(18*6.582*10^-16))))  
((((e^(((3/2(18*6.582*10^-16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

The results 1 and 2 are the spin of the photon and graviton (gauge bosons) 

  

Furthermore, we obtain: 

0.0864055+1.0864055 1/ ln (((((2((((exp(((2/3(9*6.582*10^-16)))) 
((((exp(((4/3(9*6.582*10^-16)))))))))) 

Where 0.0864055 and 1.0864055 are Ramanujan mock theta functions 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.653757... is a golden number, very near to the 14th root of the following 

Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 
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((((((((((((e ln(9) ((((((((0.0864055+1.0864055 1/ ln (((((2((((exp(((2/3(9*6.582*10^-
16)))) ((((exp(((4/3(9*6.582*10^-16))))))))))))))))))))))))))))))^1/2 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

And: 

2((((((((((((e ln(9) ((((((((0.0864055+1.0864055 1/ ln 
(((((2((((exp(((2/3(9*6.582*10^-16)))) ((((exp(((4/3(9*6.582*10^-
16))))))))))))))))))))))))))))))^1/2 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2856523 ≈ 2ℼ 

0.0864055+1.0864055 1/ ln((((((2((((e^(((1/2(18*6.582*10^-16)))) 
((((e^(((2/2(18*6.582*10^-16))))  ((((e^(((3/2(18*6.582*10^-16)))))))))) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.653757…  to the 14th root of the following Ramanujan’s class invariant 𝑄 =

൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

sqrt[(((((e ln(9) (0.0864055+1.0864055 1/ ln((((((2((((e^(((1/2(18*6.582*10^-16)))) 
((((e^(((2/2(18*6.582*10^-16))))  ((((e^(((3/2(18*6.582*10^-16)))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
3.1428261… ≈ ℼ 

that is a identical result as the previous expression. 

From: 

Robbert Dijkgraaf and Edward Witten - Developments In Topological Gravity - 
arXiv:1804.03275v3 [hep-th] 15 May 2018  
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From (2.24), we obtain various solutions: 

exp [sum (((-1)^k * 1^(k-1)/(k-1)! )), k = 2 to infinity] 

Input interpretation: 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Note that: 

-12 + 10^3 * exp [sum (((-1)^k * 1^(k-1)/(k-1)! )), k = 2 to infinity] 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1869.6 

Alternate forms: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 

 
Open code 

 

The result, 1869.6 is practically equal to the rest mass of the D meson 1869.62 

Now: 

exp [sum (((-1)^k * 2^(k-1)/(k-1)! * 2)), k = 2 to infinity 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Note that: 
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-16 + 10^3 * exp [sum (((-1)^k * 2^(k-1)/(k-1)! * 2)), k = 2 to infinity] 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
5620.87 
 
Alternate forms: 

 

 
Open code 

 

The result, 5620.87 is practically equal to the rest mass of bottom Lambda baryon 
5619.4 

We have also: 

((((((exp [sum (((-1)^k * 1^(k-1)/(k-1)! )), k = 2 to infinity])))))^3/4 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6654 is a golden number, very near to the proton mass 
 
Alternate form: 

 
Open code 

 

((((((exp [sum (((-1)^k * 2^(k-1)/(k-1)! * 2)), k = 2 to infinity])))))^1/17 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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Alternate form: 

 
Open code 

 

((((((exp [sum (((-1)^k * 3^(k-1)/(k-1)! * 3)), k = 2 to infinity])))))^1/28.397 

Where 28.397 ≈ 15.8174 + 12.5664 = 28.3838 

 
 
Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

The results 1.1070 and 1.1056 are very near (the second is equal) to the value of the 
Cosmological Constant: 

 

Furthermore: 

8+ 10^3 * ((((((exp [sum (((-1)^k * 2^(k-1)/(k-1)! * 2)), k = 2 to infinity])))))^1/17 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1115.08 
 
Alternate forms: 

 
Open code 

 
 

 

 
Open code 
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The result 1115.08 is very near, practically equal, to the rest mass of Lambda baryon 
1115.683 

Then: 

((((((exp [sum (((-1)^k * 3^(k-1)/(k-1)! * 3)), k = 2 to infinity])))))^1/6  

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
1.60819 is a golden number 
 

((((((exp [sum (((-1)^k * 5^(k-1)/(k-1)! * 5)), k = 2 to infinity]))))) 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

-8+((((((exp [sum (((-1)^k * 5^(k-1)/(k-1)! * 5)), k = 2 to infinity]))))) 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
135.496 
 
Alternate form: 

 
Open code 

 

This result, 135.496 is very near to the rest mass of Pion 134.9766 
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((((((12*((((((exp [sum (((-1)^k * 5^(k-1)/(k-1)! * 5)), k = 2 to infinity]))))))))))^1/15 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1.64337 ≈ ζ (2) 

 2sqrt((((((6*((((((12*((((((exp [sum (((-1)^k * 5^(k-1)/(k-1)! * 5)), k = 2 to 
infinity]))))))))))^1/15)))))) 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result 6.28019 is a good approximation to 2𝜋. 

 

Now, we have that: 
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From (4.44), we obtain: 

8/3! 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Series representation: 

 

Open code 

 
 

  
 More information 

Enlarge Data Customize A Plaintext Interactive  

Integral representations: 

 

Open code 

 

 

Open code 

 

 

Open code 

 
 

  
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From (4.45), we obtain: 

(4*2^8*2^3)/9! 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

  

  

  
 More information 

Enlarge Data Customize A Plaintext Interactive  

 

Series representation: 

 

Open code 

 
 

  
 More information 
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Enlarge Data Customize A Plaintext Interactive  

Integral representations: 

 

Open code 

 

 

Open code 

 

 

Open code 

  
  

From the sum of  eqs. (4.44) and (4.45), we obtain: 

(4*2^8*8)/9! + 8/3! 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

Series representation: 

 
 

Integral representations: 



202 
 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
 More information 

 

1/ (((((4*2^8*8)/9! + 8/3!)))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
0.737513.... 

Series representation: 



203 
 

 

 
 

  
 More information 

Enlarge Data Customize A Plaintext Interactive  

Integral representation: 

 

Open code 

 
 

  
 More information 

 

2.025^2((((((1/ (((((4*2^8*8)/9! + 8/3!))))))))))^3 

Where 2,025 is the mean of two Hausdorff dimensions 2 and 2.05  

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1.64497426436... ≅ ζ (2) 

Series representation: 
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  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

sqrt((((((((((6*2.025^2((((((1/ (((((4*2^8*8)/9! + 8/3!))))))))))^3)))))))))) 

Input: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 
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  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

2sqrt((((((((((6*2.025^2((((((1/ (((((4*2^8*8)/9! + 8/3!))))))))))^3)))))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.28326... ≈ 2ℼ 

Series representations: 

 More 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 

 

Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
 More information 

 

sqrt((((((((((6*((27*3)/(24+16))^2((((((1/ (((((4*2^8*8)/9! + 8/3!))))))))))^3)))))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
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Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
 More information 

 

2sqrt((((((((((6*((27*3)/(24+16))^2((((((1/ (((((4*2^8*8)/9! + 8/3!))))))))))^3)))))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 
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Decimal approximation: 

 More digits 

 
Open code 

6.283262.... ≈ 2ℼ 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  
 More information 

 

From (4.46), we obtain: 

sin(2*sqrt(2))/((2sqrt(2*2)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 

Open code 

 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

 

Open code 

 
 

  

  
 More information 

 
Integral representations: 
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Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

21 * sin(2*sqrt(2))/((2sqrt(2*2)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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Property: 

 
 
 
Alternate forms: 

 
 

 
Enlarge Data Customize A Plaintext Interactive  

 
 
 
Continued fraction: 

 Linear form 

 
Open code 

 

Series representations: 

 More 

 

Open code 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

 

From the sum of 4.44, 4.45 and 4.46, we obtain: 

(4*2^8*8)/9! + 8/3! + sin(2*sqrt(2))/((2sqrt(2*2)) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

-55+10^3*(((((4*2^8*8)/9! + 8/3! + sin(2*sqrt(2))/((2sqrt(2*2)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 

 
this result 1377.926... is very near to the rest mass of Sigma baryon 1382.8 
 
Property: 

 
Open code 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1.0814135^2 * ((((((4*2^8*8)/9! + 8/3! + sin(2*sqrt(2))/((2sqrt(2*2))))))) 

Where 1.0814135 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6757430... is a golden number very near to the neutron mass 

Series representations: 
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Enlarge Data Customize A Plaintext Interactive  



223 
 

 
 



224 
 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1.0864055^3 ((((((4*2^8*8)/9! + 8/3! - sin(2*sqrt(2))/((2sqrt(2*2))))))) 

Where 1.0864055 is a Ramanujan mock theta function 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6398691... ≈ ζ (2) 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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229 
 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1.0864055^2 * -((((((4*2^8*8)/9! - 8/3! - sin(2*sqrt(2))/((2sqrt(2*2))))))) 
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Where 1.0864055 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6379603... ≈ ζ (2) 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1/2 * ((((((((0.0864055^2 / ((((((4*2^8*8)/9! * 8/3! * 
sin(2*sqrt(2))/((2sqrt(2*2))))))))))))) 
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Where 0.0864055 is a Ramanujan mock theta function  

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.61026…  is a golden number 
 
 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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  

  

  

  

  

  

  
 More information 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

10^3*0.0864055^2 * ((((((4*2^8*8)/9! *1/ (8/3!) *1/ 
((((sin(2*sqrt(2))/((2sqrt(2*2)))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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1.64127…  ≈ ζ (2) 
 
Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

2sqrt((((6*((((((10^3*0.0864055^2 * ((((((4*2^8*8)/9! *1/ (8/3!) *1/ 
((((sin(2*sqrt(2))/((2sqrt(2*2)))))))))))))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.27618.... ≈ 2ℼ 

Series representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

  

  

  

  
 More information 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
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Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

We have also that: 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1387.77631… 
 
This result is very near to the rest mass of Sigma baryon 1387.2 
 
 
Property: 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

144-8+10^6*((((((4*2^8*8)/9! * 8/3! * sin(2*sqrt(2))/((2sqrt(2*2))))))) 

Input: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

2454.2353… 
 
This result is very near to the rest mass of charmed Sigma baryon 2453.98 
 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

10*(-0.0864055)+89+10^4*((((((4*2^8*8)/9! *1/ (8/3!) *1/ 
((((sin(2*sqrt(2))/((2sqrt(2*2))))))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
2286.48323... 

This result is practically equal to the rest mass of charmed Lambda baryon 2286.46  

Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

 

Now, we integrate the above sum of results: 

2integrate((((((4*2^8*8)/9! + 8/3! + sin(2*sqrt(2))/((2sqrt(2*2)))))))x 

Indefinite integral: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Plot: 
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For x = 1.08094974 that is a Ramanujan mock theta function result, we obtain: 

2 ((1922 1.08094974^2)/2835 + 1/8 1.08094974^2 sin(2 sqrt(2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.674306…  is very near to the neutron mass 
 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

-2integrate((((((4*2^8*8)/9! - 8/3! - sin(2*sqrt(2))/((2sqrt(2*2)))))))x 

Indefinite integral: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Plot: 
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For x = 1.0864055 as above, we obtain: 

-2 (-(1858 1.0864055^2)/2835 - 1/8 1.0864055^2 sin(2 sqrt(2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6379603... ≈ ζ (2) 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 



254 
 

 
 

  

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

2sqrt(((((6*((((-2 (-(1858 1.0864055^2)/2835 - 1/8 1.0864055^2 sin(2 sqrt(2))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2698523... ≈ 2ℼ 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  

 

Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

10^3 * 1.0864055^4 integrate((((((4*2^8*8)/9!)) * (8/3!) * 
sin(2*sqrt(2))/((2sqrt(2*2)))))))x 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 
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For x = 1, we obtain: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
1.61471 is a golden number 

 

 integrate((((((4*2^8*8)/9!)) * 1/(8/3!) * 1/((((((sin(2*sqrt(2))/((2sqrt(2*2))))))))))x 

Indefinite integral: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
 

1.0864055  / integrate((((((4*2^8*8)/9!)) * 1/(8/3!) * 
1/((((((sin(2*sqrt(2))/((2sqrt(2*2))))))))))x 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 
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Plots: 

 
Open code 

 
 

 
 

For x = 1, we obtain: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

And: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 
 
Repeating decimal: 
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1.647306... ≈ ζ (2) 

2sqrt((9.88384/1^2)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.28772... ≈ 2ℼ 

Now, we have that: 
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From the eq, (3.37), we obtain: 

(((((1/2 * integrate (-11+26i)(-11+26i)))))) 

 
 
Indefinite integral: 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plots: 

 
Open code 

 
 

 
Open code 

 

Values: 

 More 
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Enlarge Data Customize A Plaintext Interactive  
 

Alternate forms: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 

 
Open code 

 
 
Expanded form: 

 
Open code 

 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 
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(((((1/2 * integrate (-11+26i)(-11+26i))))))^1/10 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 
 

 
 
 
Plots: 

 Complex-valued plots  

 
Open code 

 
 

 
Open code 

 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

1.6529 is a golden number 

sqrt(((((((6*(((((1/2 * integrate (-11+26i)(-11+26i))))))^1/10))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
 
Exact result: 

 
 
Plots: 

 Complex-valued plots  

 
Open code 

 
 

 
 

Input: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

 
 
2sqrt(((((((6*(((((1/2 * integrate (-11+26i)(-11+26i))))))^1/10))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Plots: 

 Complex-valued plots  

 
Open code 
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Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

6.29838 ≈ 2ℼ 

And also: 

(11+2/5)(((((1/2 * integrate (-11+26i)(-11+26i)))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plots: 

 
Open code 
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Values: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  
 

Alternate forms: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 

 
Open code 

 
 
Expanded form: 

 
Open code 

 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 
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Decimal form: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

1735.29 

This result is very near to the mass of candidate glueball f0(1710) meson. 

 

((((((11+2/5)(((((1/2 * integrate (-11+26i)(-11+26i)))))))))))^1/15 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Plots: 

 Complex-valued plots  

 
Open code 

 
 

 
 

Input: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
1.64421 ≈ ζ (2) 

sqrt(((((((6*(((((11.4(((((1/2 * integrate (-11+26i)(-11+26i)))))))))))^1/15))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

 

2*sqrt(((((((6*(((((11.4(((((1/2 * integrate (-11+26i)(-11+26i)))))))))))^1/15))))))) 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plots: 

 Complex-valued plots  

 
Open code 

 
 

 
Open code 

 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

6.2818 ≈ 2ℼ 
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From (4.8), we have the following results: 

For  λ =1; λK = 8;  λI = 3;  λJ = 5; gst = 1; x = 10  and  W = 12.59+20.74    

integrate (derivative 1/8 * 2 exp(3*(((12.59+20.74)i))) 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plots of the integral: 
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Open code 

 
 

 
 

0.25 e^(99.99 i) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

0.25 = ¼   

Note that: 

Pi * 1.0864055^9 * 0.25 e^(99.99 i) 

Where 1.0864055 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
Polar coordinates: 

 
Open code 

 

We note that, the result 1,65584... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                         

                           ⇒  

                            = 1.65584 

Thence: 

Pi * 1.0864055^9 * integrate (derivative 1/8 * 2 exp(3*(((12.59+20.74)i))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plots: 

 
Open code 
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1.65584 e^(99.99 i) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
1.65584 

 

Furthermore, for: 

For  λ =1; λK = 8;  λI = 3;  λJ = 5; gst = 1; x = 10  and  W = (-1/2+√-3)    

 

integrate (derivative 1/8 * 2 exp(3*((((-1i+sqrt(-3))/2)))) 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plots of the integral: 
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Open code 

 
 

 
Open code 

 
 
 

1/4 e^(3/2 i (sqrt(3) + i i)) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 
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0.25 = ¼  
 

Continued fraction: 

 Linear form 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

  

  

  

  

  
 More information 

 

-0.08181636+1.0864055^23 * (((((1/4 e^(3/2 i (sqrt(3) + i i))))) 
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where -0.08181636 and 1.0864055 are Ramanujan mock theta functions 

Input interpretation: 

 
Open code 

 
 

  
Result: 

 More digits 

 
Enlarge Data Customize A Plaintext Interactive  
Polar coordinates: 

 
Open code 

1.64609 ≈ ζ (2) 

2sqrt[6*(((((((-0.08181636+1.0864055^23 * (((((1/4 e^(3/2 i (sqrt(3) + i i)))))))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
6.28538 ≈ 2ℼ 
 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

  

  

  

  
 More information 

 

From the (4.6), 

 

we obtain, for λI = 3;  λJ = 5; gst = 1; x = 10  and  W = 12.59+20.74    

integrate (4 exp(3*(((12.59+20.74)i))) 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plots of the integral: 
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Open code 

 
 

 
 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

About 1/25  

377 + 55 + 21 - ((( 10^5 * 0.040004 e^(99.99 i)))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 
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3619.61 near to the rest mass of double charmed Xi baryon 3621.40 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
 More information 

 

41 * integrate (4 exp(3*(((12.59+20.74)i))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plots: 
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Open code 

 
 

 
Open code 

 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

1.64016 ≈ ζ (2) 
 
2*sqrt(((((6 * 1.64016 e^(99.99 i)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 
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Open code 

6.27406 ≈ 2ℼ 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  

  

  
 More information 

 

And for λI = 3;  λJ = 5; gst = 1; x = 10  and  W = (-1/2+√-3)    

integrate (4 * exp(3*((((-1i+sqrt(-3))/2)))) 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Plots of the integral: 

 
Open code 

 
 

 
Open code 

 

-8/3 e^(3/2 i (sqrt(3) + i i)) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 
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34 + 10^3 * -8/3 e^(3/2 i (sqrt(3) + i i)) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
 

2651.36 near to the rest mass of charmed Xi baryon 2645.9 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

  

  

  

  
  

 

sqrt(((((-8/3 e^(3/2 i (sqrt(3) + i i))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
 
Open code 

1.63299 is a golden number, near to ζ (2) 

 

2sqrt((((((((((6 * sqrt(((((-8/3 e^(3/2 i (sqrt(3) + i i))))))))))))))) 

Input: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

 

6.26034, an approximation to 2ℼ 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

  

  

 

In conclusion, from the (4.10), we obtain: 

 

1 / integrate (4 * exp(3*((((-1i+sqrt(-3))/2)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Plots: 

 
Open code 
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-3/8 e^(-(3 i sqrt(3))/2 + (3 i)/2) * integrate (4 * exp(3*((((-1i+sqrt(-3))/2)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Plots: 

 
Open code 

 
 

 
Open code 

e^((3 i sqrt(3))/2 - (3 sqrt(3) i)/2) 

Input: 

 
Open code 

 
 

  
Result: 
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Integral representation: 

 
Open code 

 
 

  

  

  

  

Where 1 is the spin of the photon (gauge boson) 

 

Now, we have that: 

 

 

Thence: 

9!!/16  *  8/3! 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal form: 

 
 

Alternative representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

-5+10*(((9!!/16  *  8/3!))) 

Input: 

 
Open code 
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  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal form: 

 
782.5 

This result is very near to the rest mass of Omega meson 782.65 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

-55+10^3+10(((9!!/16  *  8/3!)))))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal form: 

 
Open code 

1732.5 
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This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

[-55+10^3+10(((9!!/16  *  8/3!))))))]^1/15 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
1.64403685... ≈ ζ (2) 

sqrt((((((6*[-55+10^3+10(((9!!/16  *  8/3!))))))]^1/15))))))) 
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Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 

 

Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
 More information 

 

2sqrt((((((6*[-55+10^3+10(((9!!/16  *  8/3!))))))]^1/15))))))) 

Input: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

6.2814715286… ≈ 2ℼ 
 
Alternative representations: 

 More 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

 

6.62607015+10^3 * exp(((((1/(((9!!/16  *  8/3!)))))) 

where 6.62607... is the absolute value of the Planck constant 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1019.40545... 

This result is practically equal to the rest mass of Phi meson 1019.445 

Alternative representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  
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 More information 

 

1/(2e) * 0.0864055 + 1.0864055^2 * 1/Pi * ln((((((((9!!/16  *  8/3!)))))) 

Input interpretation: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

We note that, the result 1,6562771... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                         ⇒  

                         = 1.6562771... 

 

Alternative representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

We note that, from the sum of eqs. (4.44-4.45-4.46), with the Ramanujan mock theta 
function 1.08232... and the ln of 139504, that is in the following partition function of 
modular j-function: 

 

we obtain: 



299 
 

-1.08232/(ln 139504)+ sqrt(((((4*2^8*8)/9! + 8/3! + sin(2*sqrt(2))/((2sqrt(2*2)))))) 

Where -1.08232 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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  

  

  
 More information 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Multiple-argument formulas: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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The result 1.105682 is an absolute value very near to the cosmological constant 

 

Now, we have that: 

 

 

 

We obtain from the eq. (4.79): 

exp((((0.07701793559^3/(6+0.07701793559*9.997034118))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

With regard the derivatives in (4.81), we obtain: 

d/dx x^4 

Derivative: 

 Step-by-step solution  

 
Open code 

 

d/dx x^5 

Derivative: 
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 Step-by-step solution  

 
Open code 

 

Now, for: 

y = 0.07701793559 = v;  x = 10;  t0 = 9.997034118 = x – y2/2;  n = 4;   

Ztop = 𝑒ቀ௩య/(଺ା௩௧బ)ቁ = 1.0000674846117:  we obtain: 

 

(((((-3/4*5 * 4*(0.07701793559)^3)))-(((0.07701793559(5*(0.07701793559)^4))))) * 
1.0000674846117 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

-0.00686679448189811814039208916251776546694804560386400609 

 

-1/(((((((((-3/4*5 * 4*(0.07701793559)^3)))-
(((0.07701793559(5*(0.07701793559)^4))))) * 1.0000674846117))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

We have that: 
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[-1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-(((0.07701793(5*(0.07701793)^4))))) * 
1.0000674846)))))]-(2*3) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
139.628389... 

This result is very near to the rest mass of Pion 139.570 

 

And: 

[-1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-(((0.07701793(5*(0.07701793)^4))))) * 
1.0000674846)))))]-21 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
124.6283 

This result is very near to the Higgs boson mass 125.18 

 

10 * -1/(((((((((-3/4*5 * 4*(0.07701793559)^3)))-
(((0.07701793559(5*(0.07701793559)^4))))) * 1.0000674846117))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
 

This result 1456.28357... is very near to the mass of Rho meson 1450, that is 
1465±25 OUR ESTIMATE – 1446±10 FUKUI 88 SPEC 8.95 π−p → ηπ+π−n 
(http://pdg.lbl.gov/2018/listings/rpp2018-list-rho-1450.pdf) 

 

Then: 

12* -1/(((((((((-3/4*5 * 4*(0.07701793559)^3)))-
(((0.07701793559(5*(0.07701793559)^4))))) * 1.0000674846117))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the mass of candidate glueball f0(1710) meson. 

 

[12* -1/(((((((((-3/4*5 * 4*(0.07701793559)^3)))-
(((0.07701793559(5*(0.07701793559)^4))))) * 1.0000674846117)))))]^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.644984... ≅ ζ (2) 
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sqrt((((6*[12* -1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-
(((0.07701793(5*(0.07701793)^4))))) * 1.0000674846)))))]^1/15)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1416408469254517715503969562021476455447732533454314 

 

2sqrt((((6*[12* -1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-
(((0.07701793(5*(0.07701793)^4))))) * 1.0000674846)))))]^1/15)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.2832816938509035431007939124042952910895465066908628 ≈ 2ℼ 

 

Now, we obtain also the following results: 

8[-1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-(((0.07701793(5*(0.07701793)^4))))) * 
1.0000674846)))))] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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Open code 

 

((((((8[-1/(((((((((-3/4*5 * 4*(0.07701793)^3)))-(((0.07701793(5*(0.07701793)^4))))) 
* 1.0000674846)))))])))))^1/14 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

We note that, the results 1165.027 and 1,6558615... are practically equals to the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  and to the 

14th root of it, i.e. 1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହା √ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

     ⇒     

     = 1.6558615... 
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Appendix A 

MOCK THETA FUNCTIONS ORDER 7 

 

 

 

 

   -0.0814135 
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The sum of the two mock theta functions (ii) and (iii) is:  

 -0,0814135 - 1,00615716 = - 1,08757066 

And 

-1 – 0.0814135 = -1.0814135 
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We have also that: 

0,9243408 - 1,00615716 =  -0,08181636;  and    

-0,08181636 - 1,00615716 = -1,08797352 

-1 – 0.08181636 = -1.08181636 

 

MOCK THETA FUNCTIONS ORDER 3 

 

From the partition formula: 
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from: 

THE f(q) MOCK THETA FUNCTION CONJECTURE AND PARTITION 
RANKS 
KATHRIN BRINGMANN AND KEN ONO 

  

We have that: 

-(((((((((((((((exp(Pi*sqrt((16/6-1/144))) / ((2(sqrt(16-1/24))))))))  +   
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(16-1/24)))))))) 

Input: 

                 (A) 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

-21.79216.... 

Or: 

-(((((((((((((((exp(Pi*sqrt((16/6-1/144))) / ((2(sqrt(16-1/24))))))))  + (0.08333)  
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(16-1/24)))))))) 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

where 0.08333 is 1/12 = O 

See link  

https://oeis.org/A000025/b000025.txt 

 

q = -21.79216*(-e^(-0.5)) = 13.2176 

 

(((-21.79216*((-e^(-0.5))/((1+21.79216*(-e^(-0.5))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

((((((-21.79216*((-e^(-0.5)))))^4 / ((1+21.79216*(-e^(-0.5)))(((1+(((((21.79216*(-
e^(-0.5))))))^3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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((((((-21.79216*((-e^(-0.5)))))^9 / ((((((1+21.79216*(-e^(-0.5)))(((1+(((21.79216*(-
e^(-0.5)))^3)))(((1+(((((21.79216*(-e^(-0.5))))))^5))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

 

Thence  

ψ(q) = -1.08185+1.08232-1.08232 = -1,08185 

or: 

((((((13.2176)))))^9 / ((((((1-13.2176)))(((1-(((13.2176)))^3)))(((1-
(((13.2176)))^5))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

Approximating the result of q to 13, we obtain: 

((((((13)))))^9 / ((((((1-13)))(((1-(((13)))^3)))(((1-(((13)))^5))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 Step-by-step solution  
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Decimal approximation: 

 More digits 

 
Open code 

 

We note that the value obtained is very near to the previous result. Indeed:  

(-1.0823205 ≈ -1.0838295)  

 

MOCK THETA FUNCTIONS ORDER 6 

We have the following mock theta function: 

 

That is: 

Sum_{n >= 0}  q^((n+1)(n+2)/2) (1+q)(1+q^2)...(1+q^n)/((1-q)(1-q^3)...(1-
q^(2n+1))) 

We have that: 

sum q^((n+1)(n+2)/2) (1+q)(1+q^2)(1+q^n)))/((1-q)(1-q^3)(1-q^(2n+1))), n = 0 to k 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

For q = 0.5 and n = 2, we develop the above formula in the following way: 

(((0.5^((2+1)(2+2)/2) (1+0.5)(1+0.5^2)(1+0.5^2)))/(((1-0.5)(1-0.5^3)(1-
0.5^(2*2+1))) 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

0.0864055... 

1+(((0.5^((2+1)(2+2)/2) (1+0.5)(1+0.5^2)(1+0.5^2)))/(((1-0.5)(1-0.5^3)(1-
0.5^(2*2+1))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1.0864055... 
 
MOCK THETA FUNCTIONS ORDER 3 
 
For 𝜙(𝑞)     q = -e-t  , t = 0.5  qn = -21.79216 * -e-0.5, we obtain: 

  

 

φ(q) = 1.075226 + 0.00572374 = 1.08094974 

ψ(q) = -1.08185 + 1.08232 – 1.08232 =  – 1.08185 

χ(q) = 1.081345 + 0.00618954 = 1.08753454 

 

The sum of   φ(q) + ψ(q) + χ(q) = 1.08663428 very near to the value 1.08643 already 
calculated from Ramanujan. 
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We have also that: 

1,08663428 + 1,0864055 =  2,17303978 ÷ 2 =  1,08651989 

 

With regard the fundamental formula (A), we note that, for n = 64, we obtain: 

-(((((((((((((((exp(Pi*sqrt((64/6-1/144))) / ((2(sqrt(64-1/24))))))))  +   
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(64-1/24)))))))) 

(((((((((((((((exp(Pi*sqrt((64/6-1/144))) / ((2(sqrt(64-1/24))))))))  +   
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(64-1/24)))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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And: 

[(((((((((((((((exp(Pi*sqrt((64/6-1/144))) / ((2(sqrt(64-1/24))))))))  +   
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(64-1/24))))))))]^1/15 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6470747 ≈ ζ (2) 
 
Alternate form: 

 
Open code 

 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representation: 



321 
 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
 

We have also that: 

[(((((((((((((((exp(Pi*sqrt((64/6-1/144))) / ((2(sqrt(64-1/24))))))))  +   
exp(Pi/2*sqrt((Pi/6-1/144))) / ((sqrt(64-1/24))))))))]^1/3 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
 
Series representations: 
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Enlarge Data Customize A Plaintext Interactive  
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Integral representation: 

 
 

we note that 12.12178 is a value very near to the black hole entropy 12.1904 

 

 

 

Appendix B 

On some developements of Ramanujan’s formulas 
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From the formula (11), 

 

we have: 

((Pi/12))*ln(2+sqrt(3)) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Open code 
Continued fraction: 

 Linear form 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  
 More information 

Integral representations: 
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Open code 

 
 

 
 

Note that, with regard the following Mock Theta Functions: 

 

φ(q) = 1.075226 + 0.00572374 = 1.08094974 

ψ(q) = -1.08185 + 1.08232 – 1.08232 =  – 1.08185 

χ(q) = 1.081345 + 0.00618954 = 1.08753454 

 

the sum of   φ(q) + ψ(q) + χ(q) = 1.08663428 

Thence, we obtain, from the previous expression: 

(((((1/6 ((((((((1.08663428 / (((((Pi/12))*ln(2+sqrt(3)))))))^2)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65552033... 

Series representations: 

 More 
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We note that, the result 1,65552033... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                               ⇒  

                         
                                = 1.65552033… 
 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
  

 

Integral representations: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

  
  

 

From the formula (2),  

 

we have that: 

(((((1/4 PI - 1/2 0.5772156649 - 1/2 ln(2Pi)))))) * ((((1/sqrt(1) - 1/sqrt(3) + 
1/sqrt(5)))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  

From: 

1/ [-1.08651989^6 * ((((((((((1/4 PI - 1/2 0.5772156649 - 1/2 ln(2Pi))))))*((((1/sqrt(1) 
- 1/sqrt(3) + 1/sqrt(5)))))))))] 

where 1,08663428 + 1,0864055 =  2,17303978 ÷ 2 =  1,08651989 that are all Mock 
Theta Functions, we obtain: 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6552285... 

We note that, the result 1,6552285... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

             ⇒  

             = 1.6552285... 

 

Series representations: 

 More 
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Enlarge Data Customize A Plaintext Interactive  
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  

  

  

  

  

  
 More information 

 

Integral representation: 

 
Open code 
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  
  

From the formula (9),  

 

we obtain: 

Pi^7 / 23040 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

 More information 

Integral representations: 

 More 

 

Open code 

 
 

 

Open code 

 
 

 

Open code 

 

1+(0.0864055+0.08753454+0.0838295)/3 * 1 /(Pi^7 / 23040) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.655456... 

We note that, the result 1,655456... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 
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Indeed: 

                       ඨቆටଵଵଷ √ହ଴ହ

଼
+ ටଵ଴ହ √ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                           ⇒  

                           = 1.655456... 

 

Series representations: 

 More 

 

Open code 

 
 

 

Open code 

 
 

 

Open code 

 
 

  
 More information 

Integral representations: 

 More 
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Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

From the formula (8), we have that: 

 

(Pi/8)coth^2(5Pi/2)-(4689/11890) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

 More information 

Integral representation: 

 

Open code 

 
 

  
  

-10^3 ((((((Pi/8)coth^2(5Pi/2)-(4689/11890)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
1.665694195…  is a golden number very near to the proton mass 
Open code 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

 More information 

Integral representation: 

 

Open code 

 
 

  
  

((((((1/ ((((((Pi/8)coth^2(5Pi/2)-(4689/11890))))))))))))^1/13 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 
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Open code 

1.63577 is a golden number 

2*sqrt((((((((6*((((((1/ ((((((Pi/8)coth^2(5Pi/2)-(4689/11890))))))))))))^1/13)))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

6.26567 ≈ 2ℼ 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 



343 
 

 

Open code 

 
 

 More information 

Integral representation: 

 

Open code 

 
 

  
  

From the formula (7), we have that: 

 

 

1/(2sinhPi) (1/Pi+cothPi-Pi/2tanh^2Pi/2) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 
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Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

 More information 

Integral representations: 

 

Open code 

 
 

 

Open code 
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  

7 * 10 * 1/(2sinhPi) (1/Pi+cothPi-Pi/2tanh^2Pi/2) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

1.64411426…  ≈ ζ (2) 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

 More information 

Integral representations: 

 

Open code 

 
 

 

 

2*sqrt((((((((6*((((((7 * 10 * 1/(2sinhPi) (1/Pi+cothPi-Pi/2tanh^2Pi/2))))))))))))) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

6.28161941... ≈ 2ℼ 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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And: 

(50Pi^2/7) * 1/(2sinhPi) (1/Pi+cothPi-Pi/2tanh^2Pi/2) 

Input: 

 
Open code 

 
 

  

  

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
  

Decimal approximation: 

 More digits 

 
1.655791572… 
 
We note that, the result 1,65579... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                            ⇒  
 
                            = 1.65579… 
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Open code 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
 

From the following formula (5), we obtain: 
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123826979/6306456 – 25Pi/4 * coth^2(5Pi) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

 More information 
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Integral representation: 

 

Open code 

 
 

  
 
 
 

10^4 * (144+63+2)*(((((123826979/6306456 – 25Pi/4 * coth^2(5Pi))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6574689865... is a golden number very near to the 14th root of the following 

Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

Integral representation: 

 
 

From the formula (4), we obtain: 

 

 

Pi^3/(90x^3) * (x^4+5x^2+1) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plots: 

 
Open code 
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Complex roots: 

 Approximate forms 

 Step-by-step solution  

 
 

 

 

 
 

Complex roots: 
  

 
 
 

 
 

Derivative: 

 Exact form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Indefinite integral: 

 Exact form 

 Step-by-step solution  

 
Open code 

 
 

  
Local maximum: 

 More digits 

 Exact form 

 Step-by-step solution  

 
Open code 
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Local minimum: 

 More digits 

 Exact form 

 Step-by-step solution  

 
Open code 

 

Series representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 More information 

Integral representations: 

 More 

 

Open code 

 

 

Open code 

 

Open code 
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For x = 3, we have: 

Pi^3/(90*3^3) * (3^4+5*3^2+1) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
1.620492649…  is a golden number, near to the golden ratio 1.61803398... 
 
Open code 
Property: 

 
Open code 

 

Series representations: 

 More 

 

Open code  

 
Open code 

 

Open code 

 

 More information 

Integral representations: 

 More 

 

Open code 
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Open code 

 

 

 

 

 

Conclusion 

From this work it is possible to highlight that using the mathematics of S. Ramanujan 
(various formulas and mainly the mock theta functions), and developing, according to 
our opinion and personal but correct interpretation, different equations of the 
aforementioned works by Witten et al, we obtain: like-particle solutions, ζ(2) = 
1.6449 and values very close to it, solutions near or equal to the 14th root of 

Ramanujan's class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... and 

golden numbers, belonging to the range of the golden ratio and sometimes, the golden 
ratio itself. Furthermore, we obtain solutions very near to 𝜋  and 2𝜋, i.e. the circle 
length with radius equal to 1. This leads us to conclude that Ramanujan's 
mathematics is applicable in a fruitful way to the mathematical development of gauge 
theories, and therefore of string and that 𝜋 and 𝜙 are fundamental mathematical 
constants that are always present in the forms of the microcosm and the macrocosm,  
therefore in quantum and relativistic physics, and, consequently, in gauge and string 
theories. 
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